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PART - III

suswllas sewflgn wnmib Lerefluwed

BUSINESS MATHEMATICS AND STATISTICS

&6l 2eTay : 3.00 wenfl Gurb |

Time Allawed :

2leyenraen

Instructions : (1]

@JQ'J—II'JI_| s i)
i)
Note : (1)
(1)

[ S8R wiHmd b anfl / Tamil & English Version)

[ Gwrgg wdOQuaser : 90

3.00 Hours | [Macomum Marks : 90
(1) eargg sileraaErl sfurs uflaurd o dmensr sreugmean sflurisss
Glsrerereyd. s’ Flalld Geapmude swns samsrestiuraflip

e Largunsg Ggflefldsab.
2] Beob wdagy s;Uy ewdes olGED TIPS 0 (5 L,

S EEaT BaushEl uwaRss Camr(in. UL RS wmrasbs
Quisndles Lwaru@dseyn.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
{4] Usc Blue or Black ink to write and underline and pencil to draw
diagrams.
L) - 1/PART - I
Siemaigg) cSlanmiscsd@n ol wLefEsaib. 20x1=20

'Elf,r'Gé,er.i'n_:;'_g;.mgv wnim eflan_safld laa o aibyaniy sfilant snunig
Canplybimnms wiluf HLem e uSl emeom i Gaigg ET{p# &y LD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives

and write 1he option code and the

Corresponding answer.
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A= |~ 8 eraflas, pla) = ;
0 8/ o
) 2 (<) 0 (@) n (") 1
(2 0
If A= i
‘\O 8] then p(A) is
(&) 2 b) o () n (d 1

plA)=p(A, B) = wridlseflen sramenflsana erafle QsmELuTeng) :
(=) e@rs@bey SiHs

() @OhsmLe) o @Lwg wHmb cramantisensunn Sraysar Quppeters
) emrsmwe) 2 oLwg

(/F)

T e@Esmoey 2oL wgy wimb ¢Cr gm Siay Cupmereng
If p(A)=p(A, B)= the number of unknowns, then the system is
(a) inconsistent

(b) consistent and has infinitely many solutions
(c] consistent

(d) consistent and has a unique solution

(=) 2 (=)0 (@) y2 () 1

jt’, 2 dx 15 -

0

(a] 2 b © () % @ 1
‘@El,r' W ETITL plx) spangy 'L]'--J(lblﬁl-lmﬂl_mgﬂ :

(&4) MR=0 () MCMR=0 (@) MC+MR=0 (@) Mc=0
The profit of a function p(x) is maximum tilien

(a) MR =0 (b MC-MR=0

(e} MC+MR=q (d) MC=0p
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Qgeneud FTTL p -5 J‘dP I [d_-‘_ wradldr k =

!

P x
1 o 1
(=) ~ 5 SRE @) 7 () —mg
For a demand function p, if I@ = kj'ﬂx: then k is equal to ;
P X
_ _ 1 1
(&) n (b} mg ) (d —ny

@ Durgelan @aflingg sriy p=3+x womb x,=3 eafle, 2 pugdlumert euf :
.3 . .5 7 , g
(=) 5 () 3 (@) 3 (F) 5
The producer’s surplus when the supply function for a commodity is p=3 + x and
X=3 is B .

2 ., 5 7 @ 2

@ 3 (b) 5 (c] 3 d 3

o e 58

[d%y 2 [dy) . ; N .

|dL 5: | = ‘|d—y] -4 =0 am aosssws soarur’yda aflms LHDd e
Ld_x"_: J\d_)( - -

apepnCGu

() Topgb 4 ()2 whmb 6 (@) 2wopb 4 (F) 3 womb 6

2. 102 T
The order and degree of the differential equation {d_q] - 'r[_ﬂ

-4 =0 are
% \'I\dx J

respectively.
ja) 1and4 () 2andé6 (¢} 2and4 (d) 3and6
Ax o[ F ] eréng cugellds B grar amLig HETEN QUensEHSE SWAILITR &iGe.

| i eulg i W hITERE L
Ay y)
uwgnuggl i drddd -
(2] y=v () x=vy (1) x-v {F) y=vx

. , . o g I A3

A homogencous differential equation ol the Torm = |2

| can be solved by
oy Ll '

malking substitution.

la]  y=v by x=wy ) xowv () =y

1 .  Trn aver
| aprugs / Turo
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9.

10.

11.

12.

A=
() foerh) —flo () flacth) @) fw-fa-n (™ fiA=flcth)
AMfld=__ -
(a) fxth)=fW () Sflx+h) © fo-fe-t) @S ()~ flx+h)
Vi
(<) fla)-fla-h) (<) fla) +fla—h) (@) fla) (w) fla)—flath)
Vila) =__ ;
& fla-fla=h) (B fl+fa-h) (@ & (d fla)—flath)

@m QgrLiréswrer fapsss Lradle c sramLg G e remmmred plx=
FTUGUTED TEHE LTS Emé@n ?
(=) TH oD (<2t L igwid (@) srewr Guweong () amm)

If ¢ is a constant in a continuous probability distribution, then p(x=c) is alwa
equal to _

(a) negative (b) zero (c) does not exist (d) one

S SwaImiiLy wrfller Flapsaey sy Qe euenTUmSeILLHIETarg.

-2 0 1 2

W | L
P | k I ok ~ sk | 4k | Sk

1 z i .
=) E f«%) 5%'“"‘” (@) @GWQJ (lT)

£

The probability function of a random variable is defined as -

[ x-x | NEIE 1 2 |

Bl ko 2% 5k 4k r 5k \

Then k 1s equal to

(a) _I—; (b) zern (c)

=

ane (dl
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13. @ epusSlureni surflésin Wer eflans wrhmEGiihsald (switches) 2 sgelig
surilliyser Gepur@eeramel aany sidluluBEng. @ Cuanipulled @m0
50 Wenellns wrpps@llpsale efsul sors 2 gopur@sd Guoousparar
flapssearany :

(21) et (sg)2e? (8) 25e7! (F) @ene gaildee
A mar}ufacturcr produces switches and experiences that 2 percent switches are
defective. The probability that in a box of 50 switches, there are atmost two
defective is .

(a) e~! (b) 2e! (c) 25e71 (d) mnone of the above

14, mEpmUyL ursudle deuphlésren flapssaurag Cardalssrar Hlapssmers Guma
BmwLng erafla mreng wwundseia yheu Qeupdl Gupegpsrar Flapsse] :
2 16 1 1
f g f i f P! - e
In a binomial distribution, the probability of success is twice as that of failure.
Then out of 4 trials, the prababhility of no success is

2 16 1 1

(@ o= bl 27 () & @ 1

15. & apupaws Csmggluden Fafl) oo Henlp&ESUILIHEDS.
(=1) pyaip somd (<) PlgeypT Semid

(@) tpupeno ST (FF) (LPlg&mi 2 1 &HeNILD
A of statistical individuals in a population is called a sample.
(a) finite set (b) infinite set

(c) entire set (d) finite subset

6. rerug  (p(pennd Asraddgieier  @ea@ers o mliyn
GerpshéEsuubiesn e Fnmar aumiilientl eflSEn QemmEin.
() Gng) LiGhTLIGTENG () LetTLIaTEN U
(8) puyews i () SWAIMLLL Sy
A is one where each item in the universe has an equal chance of
known opportunity of being selected.
(a) statistic [b} parameter
{c) entire data (d) random sample

| Bpus | T o
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17. smperraflden Sl ild@purarg -

]
5 1S

o o a &
b gy e —— 1) —= (”)
(=) 7 (<) /o, @ 5

The standard error of sample mean is :

| e b — () Lk @ =
&) \."H (b) \fr2_fl e \}Il L

18. y=a+bxeranp Gurdg Canlge b’ -@lan wéliureng) :
(=) Wleng Hved GHpn (<) sriCungud Wens
(@) uisub (/) erLCGUTgID GD
The value of b’ in the trend line y=atbxis:
(a) Either positive or negative (b) Always positive

(¢) Zero (d) Always negalive

19. Spésar apg @OWSIH eram s orby Cergenaenu Heomay Galifing ?
(=) urdlfen @HluS @ eram () oGagT GO H erar
(8) eomeviQuir @bluI @ ereir () Cuhamlin enards o
Which of the following Index number satisfy the time reversal test ?

fa) Paasche's Index number (b) Fisher Index number

(¢} Laspeyre’s Index number (d) All of them

20. Stwrer Cam’ un g Qgm iy wg ?
(24 phussaamw Carare Eroradms el Qaliag
(24,) auflonsg Qarit Gyéflevansens@ eohs Sionamgmea CaThEs@LILIg
! h
(&) o baismiqw goemaallar 2 earay
() Cwhsmmis IEGT A & LD
Decision 1heory is concerned with ¢
(a) decision making under certainty
(b) selecting aptimal decisions in scquential problem

(c] analysis ol information that is available

(d) all of the above
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U@ - I / PART - II

GO0y : aabuayn g darésmss oo wassan. e aar 30-6@

SULmuwrs eflenwieflEseL. Tx2=14

Note :  Answer any seven questions. Question No. 30 is compulsory.

21.

1 2 3
A=|2 3 4| ceramn allfen sridenans smars.
3 5 7)
12 3
Find the rank of the matrix A= |2 3 4.
457

22. f'(x=8x>—2x LHMD f12)=8 erafled, fix) -g3 ETawTS.

23.

24,

25,

If f'(x)=8x%—2x and f{2)=8, then find f{».

< dl euflFQedgib smamig CriGer (s HHTEGIben aessblsps swarum_am
&S,

Find the differential equation of the family of all straight lines passing through
the origin.

h=1 erefled, (B~ A3 =3x2—3x+ 1 eran Blmpieys.

If h=1 then prove that (E~1A]x3=3x%-3x+ 1.

Glran () LsmLgar @GCr sww s fle e uE E g @J;Fsb GoGa HAmuutiuc
(paisetlan g Hso smeunii omflungs Shsul oz erafleh, igen Hlapssa)
Eleny FTien 2 (I5euT&EeyD.

Two unbiased dice are thrown gimultaneausly and sum of the upturned faces

considered as random varighle. construct a probability mass function.

[ﬂ@‘—lu—!& / Turn over



5967

26.

27.

28.

29,

30.

8

wrevauTsd A gsrblenaeu GUIMGISDSTar 6T el arfl&SEIL  QIGHITWLIMIEE L
FosumLliLy inthlurs X @aéal B, AaTRdEstul L o Lasmarndadlmhg X -Ee
erETUTTSEeD WwallenLs Femgwey .

[Xex | @ | 1 | 2 3
P{}{:x}\ 0.2 01 | 04 | 03

Let X be a random’ variable defining number of students getting A grade. Find the
expected value of X from the given table.

[ X=x | o0 1 2 3 |
‘p()(:x} 02 | 01 | 04 o.ﬂ

FoODUYU ureadlen srrefl wdiy 20 eereyb S lnsssden wHlureg)
4 aramayb GlsreTLmed, ‘0’ -@en wélulmans srams.

If the mean of binomials distribution is 20 and standard deviation is 4, then find
the value of N’

@5 &afflain 26ray 50 2 en_w g wrfudlen Sl alledsin 6.3. eismeEiu (PpsoLd

Ggrensulen £ L eflwosan 6 erafd g fudan L0y srems.

The standard deviation of a sample of size 50 is 6.3. Determine the standard
errer whose population standard deviatian is 6.

GOSLG ereimentlen Liuemum el 6fleu fldaayb.

State the uses of [ndey number,

=1, 2, 3, 4, 5 erefled, y=fin =y D STILSS (penGpmé ( =

X520 d 5wl y= fix)= x4 3x erdnn BTG WperGpréE Caumin iqén

B LGUERGTENU Gulq 6u GGG LD,

Construct a forward difference table for y'"j'(xl:'r“ t3xfor x=1,2, 3 45
,2,3,4, 5,



@iy :

Note :
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u@&$l - T / PART - 11

semauGugnn e dlaEsEnss o walésayb. Qe arem 40 -6

sLLnwwrs s eLwelléseylh, Tx3=21

Answer any seven cuestions. Question No., 40 is compulsory.

31, spewsuild 2drer A wimbd B AU s L urand Aara Qummersieraaman

s Hepssa) e A{09 0.1

A B

eraflér, snflevauld sr @elwrerbd
Bl03 0.7)

Cenam galarm QurmeasErsarar spmy Lkdamers Sramns.

Consider the matrix of transition probabilities of a product available in the market
in two brands A and B.

A B

AT09 0.1)
Bl0.3 0.7,

Determine the market share of each brand in equilibrium position.

32.

Giram.mn Sqluent d Gepméengl LWSTUHSS

o2x+3 . '
—_———dx -en W&l
_J1x2+3x+? By

HITGHTE.

) 2x + 3
Using second fundamental theorem, evaluate 1-27 dx .

[
[

X + d¥it T

0
y= o+ 3 crdmm auspeTelenyeowl eucngs. Gu@id [ e + 3jdx -Gl wHliemus srans.

-0

{

Sketeh the graph y=|x+ 3| and evaluate _[x+3|dx.

-

34, Erde - (1 xdy— (1 +yldx=0
Solve © [1-xdy—(1+ydx=0

| Sigpris / Turn over
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35. WenEsul Herer i sl Liusu{padl slfuUL 2-DU@US STEHTS.

_\—_0\12'3r4|

Be | ¥ | ® | 8 ] _ﬂ_‘

Find the missing entry in the following table

x\0|123.44-‘

U 1 3 ° | - 81

36. sansflue srdliurissdlar LaT aeaT wranal ?
What are the properties of Mathematical expectation ?

37. UTWETEr UTsU@TEang
s HOurhseaner erpgs.

Write the canditions for which the poisson distribution is a limiting case of binomial
distribution.

FERDIOUG OFeieblel  GradenculITeh <& D 6US &I e

38. ghiou are) WeaabslL papowl vuauRss Searaumn ofleuriiaenss

2012 -b B,@ETOL BGLILDL pWTLTEE Qsreri( 2015 -GsTar aurpahms
SOEL N eremrenemtd &L e0&&eLD.

Clun(merasn l sflemey Bemmaer
‘ 2012 2015 |
Y 250 280 10
f.ZJLneL_iz,gsim_'J | 70 85 5 t—
s | 150 170 6
el -f.'i-’-T".:,'F,f-'TI'IJ.._-‘!- 25 35 4
uiy | B ' a0 _l 3
Construct the cost of living Index number fo

r 2015 an the basis 2
o . sis of 201,
following data using family budget method. 12 fromihe

. Price |
Commodity | 0 . Weights
2012 2015
[eice 250 | 250 10
Wheal w0 | 85 5
! |

Corn 156} | 170 3

0il 25 a5 4

" phal | 85 L 3
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Qsrpasiiu et omilssmen 2shs dlussms () Bed geda BUELE wHmyn

(i) BUGumelier By syduepeny LwenBES srans.

sty (FLoElenposerflsm @@ﬁun@msﬁ
|

E: E.
' S, . 40 ' 60
r 5, || 10 ~20
R | -40 150
\— States - of - nat;e
Strategy T 5
S, 40 60

S, BT ~20

S, —40 150

Select a strategy using each of the following rule,

(i) Maximin (ii)

Minimax

@ BUT @ Bramufmss sarpépri, goe eeafild T 6 gl Qugdpri whmd
o eraflen T 3 -5 Clequssflpni. oeurs Genugdan erdiumiiy whpb wrmun’ §

S{emsnelsn s seRr_ sy,

A person tosses a coin and is to receive T 6 for a head and is to pay ¥ 3 for a tail.
Find the expectation and variance of his gains.

u@é] -IV { PART - IV

Gy« emensg cilonnbaensmn ool wefldseyn.

Note -

41,

Answer all questions.

(=4) ¢pay Clgmang T 5,000 g oypergDE 0%, 7°

7x5=35

o DM 8% &) dgalg ppem

ui@aatle Gfgg weah) Geluou’ (), el dongs eugsorarons T 358
GupiuGéng. peo Gy weodbhsaleimby Hlenl @ aipwraib,
CLPEBIDIT G| @g@?l' g 6Bl by dlent a@LD eI Teahang il T 70 iPlad erafle,
jhapam k@ satien Cl L B (peBRsmer Sripamindd s,

160608

[ Slmuys / Turn over
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12

(<2p) epim Qe rEfuirer sweumli wrml X sy ergl Genaumid HlapsaaE srienLL

(a)

)]

l]}}

0 EHLElL GusAnd wunfars = b

Quinpyerara, erafle, e
. ,

‘\-’a_lue of 0 ‘ 1 . 9 ‘ 3 ‘ 4T 5

. L

P | 0 | k | 2k | 2k | 3k i e

(i) k -am nfltienud srans.
(ii)

B

6
2k° | T +k

P(x < @), Plx = 6) wpnb PO < x < 5) -8 Srens.

(i) PX < x > 5 Faran x -@len GepHsULF wElanus sarH iy Ssa|b.

An amount of T 5,000 is to be deposited in three different bonds bearing 6%,

7% and 8% per year respectively. Total annual income is ¥ 358. If the

mcome from first two investments is ¥ 70 more than the income from the

third, then find the amounl of investment in each bond by rank method.
OR

A continuous random variable X has the following probability function.

] Value of

L. T,
i 0 ‘ 1 \ 2 3 4 i 5 6 7
| |
Pl l 0 . k | 2k '| 2k | 3k | 12 | 2¢ |74k
(i) Find k. ' '

(i) Evaluate P(x < 6), P[x = 6) and P[0 < x < 5).

¥ 1
(12) HPX = x4 » 3 then find the minimum value of .

) 2 - Aunmyde e’ -mb Qg reansudfs.

RN VE ]

= _ DUsS Qslwciu@n S mEwsnmuie
zoial @omuriiedt 18 sgefldghd  oafe swaumiiiy  penpuiié

Canpls(saiuGn preae Slapainenmuild .
1) anlure e @ampurGder §me@oen

01 @emr Glasr Hamswen
i) eudla i ah 2 menuniaer e drer S 3
o sl 2 menurisear o dren J(If)(g,u:aﬂ!g UL i
4 l_l - -

HITEH0T Y, Q’Q} S ﬁﬁi&gg’goq
Luteprate *e™ with regpect o x,
- . OR
I18% of the holtg . ] nachi

- Bols produced by a machine g eeti

alrilitiethist & : defective, determi
!Imlmljfjl_u.n\ that oui of the 4 bholis chosen at ranclom % Hntapmaise tie
|.‘! exactly une will e defective balt
(1) none of the ol wil) be defective
] atmost 2 will he defective bolts
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2

) : b g & __pt2p°

(=) @ Qurmaflar eflane p - Cummag Gseneu Qrdipsd Mg = Go—p— 2
arafle eflenar 5 wpmib Caeay 70 e Gumpgl sigen Gmeneu smiy Loy
GUMEUTIF SITEnLS SIS,

9|00 g

(=) 20 Buidrbd surflagin e nusd Aurmeler 2 ANursisafdn A eesan
1.6 Ge.if. snamiuy wepdds CaitOsbssuuc L 64 wrdfissia syraf
2wrn 90 Gef. gyEn. e diursiiselar owrn 88 Qa5 Lpéwm
Goparsbar sdag 92 Csfim sflsnraGar @méen Gurg
SLUTShIS@ET aiTlqdeaswrart Brrsfsfnr. e hugd QEiwliu’ e sprsf
2wrb et e Hflurstiae, 95% pindsms Gen Ceualufe sieiowb erer

QMg GEn&HWTeTH&ES 2 nALRES (P Lor ?

[ 1% [ 2% | 5% 10%

| |2, =2.58 _T Z,|=2.33 | 2,]=1.96 | iZQ|—1{)45_

(a) The elasticity of demand with respect to price p for a commodity is

2
T _P+20" g demand function where price is ¥ 5 and the demand
d 3
100-p-p
is 70.
OR

(rj A machine produces a component of a product with a standard deviation of
1.6 ¢m in length. A random sample of 64 components was selected from the
output and this sample has a mean length of 90 em. The customer will
reject the part if it is cither less than 88 cm or more than 92 cm. Does the

95% confidence intcrval for the true mean length of all the components

produced ensure acceptance hy the customer ?

o [ aw [ s% | 10%

Z.]=2.58 J 7.]=2.33 j" ZJ=196 | [Z]=1.645

| ;ﬂ_,rﬁm_]lq, / Tarn over
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44. (@) @ susnerauaruda o dar gCseab gm Ldreaf (X Y) @)L_&g1 enn

LI 8a lg L

QAsTHCET g smiay (1 — 2yx?)dx+ (2xy? - 3)dy=0 SAED. Cogib @bs

auametauarwrarg (1, 2) yearel auiflé dewdng crafled, euenaaueuslar

FETUTL_ L& &ITamE.

EATATM

(<) ereflu syrafl wepenull LweTLBSH b Qurmaflen 2 HLESuSen Smeomen (B

umeausTas Gl oL sardd (s,

LG sreonesn(® | 11 sreoneur(® | 111 smsonesa(p) | IV ammnsﬁvr@
2005 255 351 . 425 400
2006 269 310 396 410
2007 291 332 358 395
2008 198 289 310 357
2009 200 290 331 359
2010 250 300 350 400

(a) The slope of the tangent to a curve at any point (x, y) on it is given by
(y? - 2yx?)dx+ (2xy? — x*)dy=0 and the curve passes through (1, 2). Find the

equation of the curve.

(b)

OR

the method of simple averages.

Year

2005
——
007
o008 |

T 2009

I Quarter

291
198
200

1 Quarter |
sl

310
a3

89
200

=

e

Calculate the seasonal index for the quarterly production of a product using

2010

250

300

L III Quarter IV Quarter
425 400
496 410
388 | 305
310 | 357
33t | ase
3 | 400 |
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45. (&) spegudd o arer A wimid B Gseuamswurar GanliLsalen BHCLTENSIW FhangL
uRER 15% whmib 85% L@, Qg e A aurdidliuetsefld 65% Gur
B&Hw s @Fs TR argdpriser. 35% Gui B -&@
wrblell G ement. Qaenn am(® B aunmdwaiisalia 55% Guir @b sLam(hib
BaTHid g eummiGADTTET. 45% Gui A -&@ wrihl e@dpnisdr. g
2 HEGU ng sjeupflen sheosl Lks(smas srams. Gogib shaguida
suflere eruCurg er L OUED ?

S|60608)
() 10 uBLASESE @mu®p TFh&sLubD @@ Barsda wésa CsTas
seamdlapulen efleurisar Gl Aar@ésul Hererar. 1955 -Sy1b aumL s
wé&seT Qgrenseni EHLINGHS.

QuEHLLD 1951 | 1961 | 1971 | 1981

w&se Qgnens
(B e5dle0) |
(a) Two types of soaps A and B are in the market, Their present market shares
are 15% for A and 85% for B. Of those who bought A the previous year, 65%
continue to buy it again while 35% switch over to B. Of thase wha bought B
the previous year, 55% buy it again and 45% switch aver to A. Find their
market shares after one year and when is the equilibrium reached.
OR i
(b) The population of a city in a censes taken once in 10 years is given below,
Estimate the population in the year 1955.

35 42 58 84

'Yea, 1951 | 1961 | 1971 | 1981
|
Population in lakhs 35 42 58 84
(e

E]x2 +6x+ 1

46. () wHEES !{_x_T 3) IIHT}

SIVEVF
(<) UL GIOME epaad (PoDEnLIL) LwerLBss Gereumd CLTG@aTHs sembde
S mbu SigliueL ETEHuiorans Srene Sres.

D, D, Dy D, 2 afliy
0, 5 3 6 2 | 19
05 4+ | 7 [ o 1 37
O; 3 i 4 7 5 34
Gaenel 16 18 31 25

[ Slpiiys / Turn over
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2 e
(a) Evaluate : [_3x I' b"i L dy
T+ 3) (et + 1)

OR
(b} Find an initial basic feasible solution of following problem using north west
corner rule.

D, D, D Dy Supply
oo [ s T 3 | & [ 2 | 1
0, 4 7 9 1 37
O3 l 3 4 7 5 | 34
Demand 16 18 31 25

47. (=) Cgmaud sl pg=25-3x wHHD el IUé sTiy Py =5+ 2xeTarled, Fwdlenaruile
B&TCaunt 2 ufl whmyb epusdumrert » Lflenws srams.
SiEVEVE)
(=) 2010 -ib wpaimybe (1) eorev Qi (i) urd (i) & Gesh elenad S
sramEeneT (Slemau(hih LieTal allauniisenEs G &)1,

!
Clummenser clen L R
2000 2010 ‘2000 2010
A 12 14 | 18 | 16 |
| B 15 16 20 | 15
C 14 15 24 20
' p | 12 | 12 | 29 [

fa)  Find the consumer’s surplus and producer’s gu_-_-r_pl

= us for the demand function
Py=25-3x and supply function p,=3+2x

OR
(bl Compute (i) Laspeyre's (i) Paasche’s (i1l) Fisher's Index numbers for the
2010 from the following data.
Price " Quantiny
Commeodity | [ 2 i}? t;t_y_ -
| 2000 | 2010 | 2000 2039
A ‘ 12 14 18 e
I3 15 16 20 15
. « | 14 | 15 24 20
b 12 | 12 20 oy |

~oQo-



